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PART-A /TG I

A7 fm)” What does a Production Possibility Curve indicate ? 1
Terim AR @R & Foi 3@ ?

® 1f an increase in the price of good X increases the demand for good

Y, then how the two goods are related ? 1
ME X WR 7 I Y WK i 3 SR ere T g6 [ 4aE
Tooiffe 2 ® \
Q
fe)” Total Variable Cost (TV%%QI be » when total product is
‘zero. (Fill in the blank,
W )

Q 1
70 BeeAm 40 @W,qmﬁm«ﬂam 22
(0T HZ %7 )
(@ A firm earns formal profit when — 3 : 1
(i) AR>AC
(i) AR=AC .
/(jii) AR <AC
(iv) MR = MC : (Choose the correct answer)
93 AfSHI T =S W@ IE @fen —
(i) AR>AC
(i) AR=AC
(iii) AR<AC .
(i) MR=MC (%% Se<gor Wz @?%eaf)
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(e) In a centrally planned economy, which of the following takes all

economic decisions ? 1
() Ccnt.ral Bank

(ii) Market

(iii) Government

(iv) Both Government and Central Bank

ﬁ@mﬂﬁaﬁsw@%mm%v@—ﬁmmﬁﬁsm

PRI & FR? NS
\Q‘G
() CER QAT $Q

$

(i) I@R
(iii) IR
(iv) @ET QAT AE HIH Tl

(- What are the shapes of AR and MR curve for a firm under non-

competitive T market structure ?’ 1

Tl AR JEE . TS mmmmw elifes @
W@Wﬁim? |

/2./ Mention two reasons that give rise to economic problefns.
el STl B8 @R gh IR TrEd =
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/'3/. What is a budget line ? Why does it slope dOWﬂWﬂ:l‘d ? 1+1=2

AT @2 B2 9% @R v T fmaen

4. If a unit tax is imposed, how does it impact the short-run supply curve of

a firm ? Show with the help of diagram. 2

mmmmﬂww,mmawmmsmm
ma—lﬁ—wﬁvﬁmwm@

K\Q
% What isbreak-even point’ of ? At which point of the AC curve, a
firm under perfect compe@u breaks-cven ? - 1+1=2

aFWmmmm—t%wﬁzﬁwqerﬁ\%mﬁ—ﬂw AfSHN QA 91T
A @R FG S ATelsed T-7 i FE2

(6./ What does price elasticity of supply mean} Briefly explain. 2

@I 7 el 2 qwi el

(3]

J< What is a monopolistic competitive market ?

I eferafrerER 1 i afscaion @R

8. Discuss four features of indifference curve, 4
ﬁa-cw Q41 m ‘ﬁﬂf‘;@ IGIp| 4|
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9.  Define and draw average cost and average variable cost curve. Why these

two curves can’t touch cach other ? 3+1=4

TE T I oG ARG AR @t it @ wsies @3 @RI o ugEd 4 |
R S @RI Ry A =if $Ra @RI ?

OR/ w23t

The Total Cost (TC) schedule of a productiog{nit is given bglouﬁ Find out
. TFC, TVC, AC and MC. QK\Q 4
‘ L ’
<51 BeAmT) csrmquacm@ s frl tar=1' 9 R I (TFC), 15
ARTETI 7 (rvc:),ewm@ 1% s g (MC) st Ada i |
: \)

Quantity Produced TC
BeorR #ifata |
0 10
1 40
2 60
3 80
4 95
57 ' 110
6 130
7 160
30T ECON [5] Contd.

Download all NOTES and PAPERS at Stude


http://studentsuvidha.com/
http://studentsuvidha.com/

10. Mention four differences between perfect competition and monopoly.

4
sl eferaiorm IoR SR GIEhal TGEe SRD AL FE
11. The demand and supply functions of a commodity is given by
Qq=100-2P
Qs=2P-60
Find :
- "~
(i) Equilibrium price %§
S .
3+1=4

(i) Equilibrium quan@?

S
Waﬁlm TSI oIzt wem fam (==
Qd=100"2p

Q. = 2P =60
() S W %

(i) ST SeAT #ART sick ]|
OR/ 934t

Explain with the help of a diagram; how shifting of the supply curve of a
commodity affects its equilibrium pfice and output. 4

Gy «O1d QN @wmwﬁmwﬁweamqﬁmﬁ eacuch
oeifTe - oaa swe At i )|
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12. What do you understand by returns to a scale ? Write the meaning of

constant, increasing and decreasing returns to scale. 1+3=4

R Afenm I 6 ure wER, @ mwmﬁmmmuﬂ
|

OR/ &34t
State the reasons behind the working. of the law of diminishing marginal
product. , -4
T i Sesia fRifE FREER @

S

13. State and explain the law of Q and with the help of an imaginary

schedule and diagram. @ : 6

m&mwmmmamwmwﬁw@mmww
I 4 |

OR] @2

Calculate price elasticity of demand by expenditure method :

- () If an increase in price from Rs. 10 to Rs. 12 per unit lowers quantity

demanded from 25 units to 20 units.

(i) If an increase in price per unit from Rs. 8 to Rs. 10 lowers quantity

demanded from 20 to 16 units.

¢iii) If a decrease in price from Rs. 12 to Rs. 8 per unit increases quantity

demanded from 20 to 28 units. 2+242=6"
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I Tahed GRkacs GitwR Ffogiawel s 4l 8

i) 2 & TR 7 10 B 241 12 Beviten 3 20 BfZwm ARt 25 @
]l 20 GFITE ZFT 2|

(i) oS a3 TR 79 8 B ofa 10 Seriter g 20 BIRAA ~Afe 20 G
1 16 G 2 A

(iii) 2fS 9T TR 7@ 1259 741 8 Gl 251 2'CE bifEH! 20-9 74l 28 GFRLA

= =i
S

| N
14. Define : (§’
O
Q
(i) Total Product (T P)@

(i) Average Product (AP)

(iti) Marginal Product (MP)

Explain the relation between AP and MP with the help of suitable
diagram. 1+1+1+3=6

@ e

G T5 Sesma

) TG Beofma

(iii) 2. Bt | |

51T BATA BIIF e Seoli 71¢ Boige g LGRS —
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OR/ @24t

£y" What is production function ? A n

CAMH To I @I 2

(i) What do you mean by fixed factor and variable factor of production ?

Give examples. 2

$
@wm%@wwwﬁﬁﬁ\aonmqﬁm%qm@mw

fert
| QQ\
>

(iif) The production function of a firm is given by Q=2L2K2

Find out the maximum possible output that the firm can produce
with 5 units of L and 2-tnits of K. What is the maximum possible

output the firm can produce with zero (0) units of L and 10 units
of K? ) - I
fira iR 4 RSO Besim Fem Q = 2L2K2|

5 G L I 2.6 K- RIS AU S I (oS w3y et
R AR ? T (0) 9T L T 10 §IT KX TS AfSMA Beairm

TR ~[1 T s w22
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PART-B/ 3-5i

A

15. (1) What is the relation between MPC and MPS? 1

MPC ©IF MPS-3 wI1E@ 57& foll |

(&) What is investment ? 1
R fe
(c)  What do you mean by 'velo%ﬁé& circulation’ of money ? 1
3 7 Q
TER ‘@b Sifors’ al?
&Q
@/ Who is known as@ ‘lender of last resort’ ? 1

o/ R w3 S Jrei T

() What is government budget ? 1
GRS AT e
¢~ In which year GST came into effect in India ? ‘ 1

W%WWWGSTW&WZ{@?

16. Define intermediate good. How intermediate goods are different from
C TO

capital goods ?
pita: g 1+1=2

wﬁmamﬁmmm@wwzﬁmqa@mw I ?
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17.

18.

19.

.

What is investment multiplier ? If Rs. 200 crore increase in investment
increases income by Rs. 800 crore, then what will be the value of investment

multiplier? - 1+1=2

st wers & 2 3fiez 200 mﬁmﬁﬁmﬁqﬁmwsm I Tt g T3
T RfFcatst were s fcfa ==

Write the differences between ex-ante investment and ex-post investment.

2
wﬁwﬁﬁmﬂm‘m(ﬁw)ﬁﬁwﬁﬁmwml
S
>
Mention two points of supetiority of Selective Credit Measures over
Quanhtahve Credit Cont@ easures. . 2

wﬁmﬂ—wqﬁmﬁﬁtﬁﬁiﬁm@mwﬁmw@ PR
S 4

Write two differences between revenue expenditure and capital expenditure.
2

—y

mmwmﬁmmtfﬁmﬁﬂﬁw |

21. What do you mean by devaluation of currency ? How does it affect the
import of a country ? ' 1+1=2
o SR R R T TR SRAEIRG (7 G S AR
@ETE elfde 2 .
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22.  Define GDP. Can GDP be used as an index of welfare of a country ? I]‘fgz
' your answer.

GDP-7 3R& &l | GDP-% (7l @3 et 5% el 92 Fid AIRE 2
(SR €T AT e wisRepn | :
i

How does the central bank use its quantitative credit control measures tz
contral inflationary situation of an economy ?

R RN JErRRea ) e Al GeeT QSCE SRS, e Fraged
ARETE e e wfae
OR/g%qf o
| "
Write a note on 'demonetisation'.%§ 4
‘R’ Raw o G Fud: .
N

2}«. What is a Deficit Budge@'\lhy a-deficit budget is considered beneficial
than a surplus budget for a developing economy ? 1+3=4

mw&?mu%mmmwwm@mﬁ ,
2o Rsal <=1 a2 '

29 Mention four differences between Direct taxes and Indirect taxes.

4
AOPF T I ARE TR A 515! A2y fyay
26. (1) What is balance of payment ? . 1
ARCNGE Fror o ,
(i) What are the fwo main components of balance of Payment ? 1

ﬂﬁm«mﬁtﬁ@m 7o & o

(ii)) Write two differences between Balance of p

trade. ayment and balance.ozf
AT 7t @ Aftem e 75 oy el
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OR/ @34l '
Write briefly aboyt - i
(i) Open Economy
(ii) Exchange Rate.
IRGREEIE
() & S
(i) R ==

27. Explain the procedures of calculating Nﬁqnal Income by value-added
method. 6

wa\mﬂﬁ%@@r@nweivm@aﬁmﬁmﬂNW|

From the datz.x given below@alculate :
(i) GDP at factor cost

(ii) GNP at market price

(i) NNP at factor cost

(1) Consumption Expenditure :  Rs. 2,000 crores
() Investment Expenditure :  Rs. 1,200 crores
(¢ Government Expenditure Rs. 450 crores
(d) Export Rs. 80 crores
(¢) Import | Rs. 95 crores
(0 Net factor income from abroad Rs. 60 crores
(g) Indirect taxes Rs. 90 crores
() Subsidies Rs. 80 crores
(i) Depreciation Rs. 30 crores
[13] Contd.
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R ©UMA °f 2
() S S o /77 TR Sest (GDPpc)
(i) TR RS I3/ TS Best (GNPyp)

(iii) BAWH TS Feb/ e TS Besii (NNPpc) 21 31|

(@) ToiTstal | s 2000 G T
®) Rfcnst 3w S 1200 u o w
$
(c) 339 I gﬁ\z 450 @ »  »
®

(d) a@ﬁﬁ ,Q\Q% 3 80 ”» »
@ @$ & 95 .
(N Rorr o[ [ES Seimm o o 60 »
(g) AT 3] 3 0w
) G2E H 80 | .
() S s 30 .

»

28. Explain the process of equilibrium income determinaﬁon f
) o

_ an eco
with the use of aggregate demand it

and aggrepate sui:ply curves

6
A2 I S BIEAI (A1 TS Q3 QLN ey g

Rt sifmst
. foumz = @) , IR elfars
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OR / @2l

What is s .
aggregate demand ? Discuss the components of aggregate demand.

1+5=6

AT GIEw| e A sifm Somrmrz S =i
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